MEASUREMENT

Subtract amounts of money and work out change

Isiah has 90p. He spends 30p on a bag of crisps. How much money does
he have left?

e Jessica has £1. She spends 65p on an ice cream at Mr Frosty’s
ice cream van. How much change will she receive?

e Humma has £20. She buys a new jumper for £9. She then buys a
headband for £3. How much money does she have left?

£

0 Mr Jones bought 2 plants for his garden. Each plant cost £1.50. How
much change did he get from £5?

£

6 In a restaurant, Toffee Dessert costs £1.75 and Fruit Dessert costs £2.15.
Humma has a Toffee Dessert and Sarah has a Fruit Dessert. How much
change will they have from £5?

£

@ Jessica has £5. A basket of strawberries costs £1.30. Does Jessica have
enough to buy 4 baskets?

Yes / No

Explain your answer.
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